
TNH1144 - KNH114
SPECIFIC ENGINE GUARD

MOUNTING INSTRUCTIONS 

1/4

HONDA CRF1000L AFRICA TWIN (2016)
N°

1
Engine Guard 

- TNH1144DXS
TNH1144SXS 2 (Dx,Sx)

2 Support - GNB1531S 1

3  Support - GL3097T 4

4 Support - GL3098T 4

5 Support - GNB1534DX
GNB1534SX 2 (Dx,Sx)

6
Screw 

TECF M8x30 830TECF 6

7
Screw 

TBEIFF M6x16 616TBEIFF 4

8
Screw 

TBEI M6x35 635TBEI 8

9
 Washer

- 805RONX 2

10
 Washer

- 618RONP 4

11 Nipples - V906T 2

12 O - Ring Z2161 4

13 MOUSSE MOUSSE 25x3x70 Z1763 1

14 Bolt Dado Autobloccante Flangiato M6 6DADIAFL 8

15

 Components Included In The Fitting Kit Of The TN1144 

- - -

16
Original Parts

- - -

https://www.motorcycleid.com/givi/


TNH1144 - KNH114

2/4

HONDA CRF1000L AFRICA TWIN (2016)

6

10mm -  12mm

4mm 

8 97

3

4 5

21

10 11 12

13 14



©Copyright 14/03/2016 SV-Rev00

TNH1144 - KNH114

3/4

HONDA CRF1000L AFRICA TWIN (2016)

6

6

6 6

1

8

8

8

8

9

9
2

2

3

13

16

13

A

B

15

15
15

15

14

14
14

14

15
15

4

45

3



TNH1144 - KNH114

4/4

HONDA CRF1000L AFRICA TWIN (2016)

C

DD

2
11

D

7

7

12

12

11
10

10

Rely only on high-grade motorcycle guards & protection offered on our virtual shelves.

https://www.motorcycleid.com/guards-protection.html

